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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Winter Examination-2018 

 

Subject Name: Digital Communication 
 

Subject Code: 2TE04DCM1   Branch: Diploma (EC) 

    

Semester: 4      Date: 25/10/2018  Time: 10:30 To 01:30   Marks: 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 (A) The maximum synchronizing capability in coding techniques is present in  

A) Polar RZ      B) Manchester format       C) Polar NRZ     D)   Polar quaternary 

NRZ 

 (B) Sharing of medium between two or more channel   

A) multiplexing  B) mixing  C) sampling D)   none of above 

 (C) In digital transmission, the modulation technique that need  minimum bandwidth is  

A)  DM B) PCM C) DPCM D)   PAM 

 (D) Real world in nature having …………..system.  

A) analog  B) digital  C) both of above  D)   none of above 

 (E) The noise that affects PCM  

A) Quantizing B) Transit     C) transmission D)    A and  C both  

 (F) The characteristics of compressor in μ-law companding are  

A) Continuous B) Logarithmic  C) Linear  D)   Discrete  

 (G) Process of converting analog to digital is known as …………..  

A) D to A converter  B) A to D converter  C) both of above  D)   none of above 

 (H) …………technique frequency of carrier will  shift according to PCM signal   

A) ASK B) PSK C)FSK D)   none of above 

 (I) In Differential Pulse Code Modulation techniques, the decoding is performed by  

A) Accumulator B) PLL C) Quantizer D)   Sampler 

 (J) …………technique phase of carrier will shift according to PCM signal  

A) ASK B) PSK  C) FSK  D)   none of above 

 (K) If step size of quantization increases then………. Decreases.  

A) bit rate  B) quantization error C) both A and B D)   none of above 

 (L) To reduce slop overload error ……….circuit used.  

A) Integrator B) differentiator  C) multiplexer D)  any  of above 

 (M) …………technique amplitude of carrier  shift according to PCM signal  

A) ASK B) PSK  C) FSK  D)   none of above 

 (N) ……………..communication method give more transmission delay  

A) serial  B) parallel  C) both of above. D)   none of above 
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Attempt any four questions from Q-2 to Q-8 

 

 

Q-2  Attempt all questions (14) 

 A. What is sampling theorem? Describe quantization process with suitable diagram. 07 

 B. Explain the block diagram of PCM transmitter. State Merits and demerits of PCM. 07 

    

Q-3  Attempt all questions (14) 

 A. Explain Delta Modulation.  05 

 B. Explain DPCM. 05 

 C. Define aliasing error, base band signal, channel coding, source coding 04 

    

Q-4  Attempt all questions (14) 

 A. Explain the block diagram of QPSK receiver. 07 

 B. Explain Minimum Shift Keying.  07 

    

Q-5  Attempt all questions (14) 

 A. Explain BPSK signal generation. Draw the constellation diagram of BPSK. 07 

 B. Explain the block diagram of QPSK transmitter. 07 

    

Q-6  Attempt all questions (14) 

 A. Define slope overload noise and granular noise, synchronization. 03 

 B. Compare PCM, DM, ADM  07 

 C. Explain Blue tooth technology in short. 04 

    

Q-7  Attempt all questions (14) 

 A. State the disadvantages of digital communication as compare to analog communication. 02 

 B. Explain RS-232 in short. 04 

 C. Compare Amplitude Shift Keying (ASK), Frequency Shift Keying (FSK) and Binary Phase 

Shift Keying (BPSK) modulation techniques. Draw their waveforms for the digital sequence 

1011001110001. 

08 

    

Q-8  Attempt all questions (14) 

 A. Explain types of sampling with circuit diagram and its wave forms 08 

 B. Explain companding with its types in detail.  06 
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પ્ર:૧  નીચેનાપ્રશ્નોનાજલાફઆ઩ો (ફહવુલકલ્઩પ્રકાયનાપ્રશ્નો=૧ગણુ*૧૪=૧૪ગણુ) (૧૪) 

 (A) કોડ િંગ તકનીકોભાાં ભહત્તભ વ િંક્રનાઇઝઝિંગ ક્ષભતા હાજય છે  

  અ) ઩ોરાય RZ      ફ) ભાન્ચેસ્ટય પોભેટ ક) ઩ોરાય NRZ          ) ધ્રલુીમ quaternary 

NRZ    

 

 (B) ફે અથલા લધ ુચેનર લચ્ચે ભધ્મભ ળેડયિંગ  

  અ) ભલ્લ્ટપ્રેક્ ીંગ ફ) વભશ્રણ ક) ેમ્પ્પ્ર્ગ  )  કોઈ નહીં  

 (C) ડ જજટર ટ્રાન્ વભળનભાાં, ભો યરુેળન ટેકવનક જે ન્યનૂતભ ફેન્ વલડ્થની જરૂય છે  

  અ) DM ફ) PCM ક) DPCM  ) PAM  

 (D) કુદયતભાાં લાસ્તવલક દુવનમા  .. ............વ સ્ટભ છે.   

  અ) એનારોગ ફ) ડ જજટર ક) ઉ઩યના ફાંન ે  ) કોઈ નહીં  

 (E) અલાજ કે જે ઩ી ીએભ ને અ ય કયે છે  

  અ) ક્લોન્ટાઇઝઝિંગ ફ)  )ટ્રાન્ વભળન  ક) એ અને  ી ફાંન ે  ) કોઈ નહીં  

 (F) Μ-law companding ભાાં કો્પે્ર યની રાક્ષઝણકતા…………… છે  

  અ)  તત ફ) રોગેડયધવભક ક) રીનીમય  ) સ્લતાંત્ર  

 (G) એનારોગને ડ જજટરભાાં રૂ઩ાાંતડયત કયલાની પ્રડક્રમા  ............તયીકે ઓ઱ખામ છે .  

  અ)  ીથી એ કન્લટટય ફ) એ થી  ી કન્લટટય ક) ઉ઩યના ફાંન ે  ) કોઈ નહીં  

 (H)  ............કેડયઅયની તકનીકી આલતટન ઩ી ીએભ  ાંકેત મજુફ ફદરાળે .   

  અ) ASK ફ) PSK ક) FSK  ) કોઈ નહીં  

 (I) વલબેદક ઩લ્  કો  ભો યરુેળન તકનીકોભાાં,  ીકોડ િંગ દ્વાયા કયલાભાાં આલે છે  

  અ) એક્યુ્ યરુેટય ફ) ઩ીએરએર ક) ક્લોન્ટાઇઝય  )  ે્઩રય  

 (J)  ...........તકનીકી ભાકેડયઅયનો તફક્કો ઩ી ીએભ  ાંકેત મજુફ ફદરાળે  

  અ) ASK ફ) PSK ક) FSK  ) કોઈ નહીં  

 (K) જો ક્લોન્ટાઇઝેળનનુાં ઩ગલુાં કદ લધે તો  ..........ઘટા  ેછે   

  અ) ફીટ યેટ ફ)ક્લોન્ટાઇઝેળનભરૂ ક) એ અને ફીફાંન ે  ) કોઈ નહીં  

 (L) ઢા઱ ઓલયરો  ભરૂને ઘટા લા . .........circuit નો ઉ઩મોગ થમો.  

  અ) ઇલ્ન્ટગ્રેટય ફ)  ક) ભલ્લ્ટપ્રેક્ ય  ) ઉ઩યોક્ત કોઈ઩ણ  

 (M) …………. તકનીકી ભા ઩ી ીએભ વ ગ્નર મજુફ કૅડયઅય વળફ્ટથળે.   

  અ) ASK ફ) PSK ક) FSK  ) કોઈ નહીં  

 (N)  .. ...............કો્યવુનકેળન ઩દ્ધવત લધ ુટ્રાન્ વભળન વલરાંફ આ઩ે છે   

  અ)  ીયીમર ફ)  ીયીમર ક) ઉ઩યોક્ત ફાંન ે.  ) કોઈ નહીં  
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પ્રશ્ન૨થીપ્રશ્ન૮ભાાંથીકોઈ઩ણચાયરાખો .  

પ્ર:૨  નીચેનાપ્રશ્નોનાજલાફઆ઩ો. (૧૪) 

 A.  ેમ્પ્પ્ર્ગ થીમયભ શુાં છે? મોગ્મ આકૃવત  ાથે ક્લોન્ટાઇઝેળન પ્રડક્રમા લણટન કયો. ૦૭ 

 B. ઩ી ીએભ ટ્રાન્ ભીટયનો બ્રોક  ામાગ્રાભ  ભજાલો .઩ી ીએભ રાબ અને ગેય રાબ આ઩ો.  ૦૭ 

    

પ્ર:૩  નીચેનાપ્રશ્નોનાજલાફઆ઩ો. (૧૪) 

 A.  લે્ટા ભો યરુેળન  ભજાલો. ૦૫ 

 B.  ી઩ી ીએભ  ભજાલો.  0૫ 

 C. અલ્રાઇઝઝિંગએયય, ફેઝ ફેન્  વ ગ્નર, ચેનર કોડ િંગ, સ્રોત કોડ િંગને વ્માખ્માવમત કયો ૦૪ 

    

પ્ર:૪  નીચેનાપ્રશ્નોનાજલાફઆ઩ો. (૧૪) 

 A. QPSK યી ીલયના બ્રોક  ામાગ્રાભની  ભજાલો. ૦૭  
 B. MSK  ભજાલો. ૦૭  
    

પ્ર:૫  નીચેનાપ્રશ્નોનાજલાફઆ઩ો. (૧૪) 

 A. BPSK વ ગ્નર જનયેળન  ભજાલો  .ફી.઩ી.એ .કે કોન્સ્ટારેળન ામાગ્રાભ દોયો. ૦૭ 

 B. ક્ય઩ુીએ કે ટ્રાન્ ભીટય બ્રોક  ામાગ્રાભદોયી ને  ભજાલો. ૦૭ 

    

પ્ર:૬  નીચેનાપ્રશ્નોનાજલાફઆ઩ો. (૧૪) 

 A. સ્રો઩ ઓલય રો  એયયગ્રાન્યરુય અલાજ વ િંક્રનાઇજે ન વ્માખ્માવમત કયો. ૦૩ 

 B. ઩ી ીએભ,  ીએભ, એ ીએભની તરુના કયો ૦૭ 

 C. બ્લ ુટુથ ટેક્નોરૉજી ટૂાંકભાાં  ભજાલો. ૦૪ 

    

પ્ર:૭  નીચેનાપ્રશ્નોનાજલાફઆ઩ો. (૧૪) 

 A. ઍનરૉગ  ાંચાયની તરુનાભાાં ડ જજટર  ાંચાયના ગેયપામદો જણાલો ૦૨ 

 B. આયએ  -223ટૂાંકભાાં  ભજાલો. 0૪ 

 C.  ઍ્પ્રેટય ુ ળીફ્ટ કીંગ (એએ કે) , ફ્રીક્લન્ ી ળીફ્ટ કીંગ (એપએ કે )અને ફાઈનયી તફક્કો 
ળીફ્ટ કીંગ ( BPSK) ભો યરુેળન તકનીકની તરુના કયો  .ડ જજટર અનકુ્રભ 1011001110001 
ભાટે તેભના લેલપો્ ટ દોયો.  

૦૮ 

    

પ્ર:૮  નીચેનાપ્રશ્નોનાજલાફઆ઩ો. (૧૪) 

 A.  ડકિટ  ામાગ્રાભ અને તેના તયાંગ સ્લરૂ઩ો  ાથે  ેમ્પ્પ્ર્ગ ના પ્રકાયો  ભજાલો ૦૮  
 B. કાં઩ાઉન ીન્ગ અને તેના પ્રકાયો વલગતલાય  ભજાલો. ૦૬  

 


